

$$\log_n^m 29 \rightarrow m \geq n^a$$

$$b_2 \log_{mn}(m^n n) = \frac{\log m^n n}{\log mn} \xrightarrow{m \geq n} m^n n \geq n^n \geq n^{n/2}$$

$$mn \geq n^a \geq n^{a+1} \rightarrow b \geq \frac{(a+1)}{a+1} \rightarrow [b] \geq 1$$

(۲) اثبات $\log_a n \rightarrow \log_a n^2 \rightarrow 2 \log_a n$ $\log_a 1 \neq 0$

$$m \neq 1 \rightarrow \log n \rightarrow \frac{1}{x}$$

اگر $n < 1$ ← $\frac{1}{p} \log n$ ← صورت + مرتبه
 اگر $n > 1$ ← $\frac{1}{p} \log n$ ← صورت + مرتبه - کر

ثابت است که $0 < n < 1$

2 1 2 1 2

~~$(n-2)(n-1)$~~ $(n-1)(n+1) > 0$

$$\sqrt{r-1} \rightarrow r-1 \rightarrow n-1 \rightarrow n-1$$

استدلال ← $n > 2$ و $n < -1$ را حذف و n را در n باقی بماند

$$(-\infty, -1) \cup (1, +\infty)$$

$$\log_a m^{\frac{1}{r}} = \frac{1}{r} \log_a m$$

(۳)

$$\log_a m = \frac{1}{\log_a m} \rightarrow t = \log_a m$$

$$\log_m a = \frac{1}{t} \rightarrow r \left(\frac{1}{t} \right) + \frac{1}{r} + t = r$$

$$\frac{r}{t} + \frac{t}{r} + t = r \rightarrow (t-r)^2 = 0 \rightarrow t = r$$

$$\log_a a = r \rightarrow a = a \rightarrow a = a$$

$$\ln |a - m| = \sqrt{b^2 + c^2} \rightarrow \frac{\log a}{\log r} = \frac{\log a}{\log r} \rightarrow \log a$$

$$a = \log r, b = \log a, c = -\log a$$

$$D = (\log a)^2 + \log a \log a \rightarrow \log a = 2 \log a$$

$$\frac{\log a}{\log r} \rightarrow \log_r a = \log_r (dx) = \log_r a + 1$$

$$\log_r a = \frac{1}{a} \rightarrow \log_r a = \frac{1}{a} \rightarrow \log_r a = \frac{1}{a}$$

$$\log_r a = \log_r (\sqrt{x}) = \log_r a + 1 \rightarrow r, n+1 = r, n$$

$$\log_{10} \frac{r}{r/n} = 0.1189$$

$$\log_4 15 = \log_4 2 \cdot \log_4 15 \rightarrow \log_4 2 = \log_4 (2 \times 5) = \log_4 2 + \log_4 5$$

$$\log_4 2 = 1/2 \rightarrow \log_4 2 = \frac{1}{2} = 0.5$$

$$\log_4 2 = 0.5 + 1 = 1.5$$

$$\log_4 15 = \log_4 (2 \times 5) = 1 + \log_4 5 = 1 + 1.5 = 2.5$$

$$\log_4 15 = \frac{1.5}{0.5} = 3$$

$$\log_4 15 = \frac{\log_4 15}{\log_4 4} = \frac{\log_4 15}{1}$$

$$m = \frac{\log_4 15}{1} \rightarrow \log_4 15 = m$$

$$1 + 2 \log_4 2 = m \rightarrow \log_4 2 = \frac{m-1}{2}$$

$$\log_4 15 = \log_4 2 + \log_4 5 \rightarrow 1.5 = \frac{m-1}{2} + \log_4 5$$

$$\log_4 15 = \frac{m-1}{2} + 1 = \frac{m-1+2}{2} = \frac{m+1}{2}$$

$$\left(\frac{r}{10}\right)^{r_{m-1}} - 1$$

$$= \frac{a}{r} \frac{r_{m-1}}{r} \rightarrow r_{m-1}$$

$$r_{m-1} + r_{m-1} - 1$$

$$= \Delta$$

$$\rightarrow r_{m-1} + r_{m-1} = 2 \rightarrow m + r_{m-1} - 1$$

$$m = \frac{1}{r} \rightarrow \log$$

$$\log_{\frac{1}{r}} a + 1$$

$$= \frac{r}{r}$$

$$\frac{1}{r} \log_{\frac{1}{r}} b$$

$$= \frac{r}{r} (a+1) = \log b$$

$$= r \log_{\frac{1}{r}} b \rightarrow b, 99$$

$$\log r \times r^4 - 1 = r$$

$$a = \log_{\frac{1}{r}} r$$

$$r = \log_{\frac{1}{r}} r$$

$$\log E = \frac{1}{b} = \frac{Ea}{b} \rightarrow \log_{\frac{1}{r}} = \frac{ra}{b}$$

$$\rightarrow \frac{1}{r} \times \log_{\frac{1}{r}} \frac{a}{b}$$

$$S = \frac{b}{Ea} \rightarrow \frac{1}{S} = \frac{Ea}{b} \rightarrow ra = b + c \rightarrow b + c = r$$

$$\left[\frac{1}{r}\right]^a = r^{\frac{1}{r}a}$$

$$r \log_{\frac{1}{r}} = \frac{c}{a}, \frac{b}{a} \rightarrow r - r \log_{\frac{1}{r}} \rightarrow -r \log_{\frac{1}{r}} = \frac{c}{a}$$

$$\left(\frac{1}{r}\right)^{\frac{c}{a}} = r^{-\frac{1}{r} \times c} = r \log_{\frac{1}{r}} \frac{c}{r} = \sqrt{a}$$

$$r - r (\log_{\frac{1}{r}} a) + r \log_{\frac{1}{r}} \rightarrow \frac{c}{a} = -\log_{\frac{1}{r}} r$$